### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 10 - Hawick & Denholm	
Valid Votes	3,27	1
Positions to be Filled		3
Quota	818	3

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Trevor ADAMS	Independent	114
Catriona HAMILTON	Scottish Green Party	147
Kay HUGHES	Scottish Labour Party	120
Stuart MARSHALL	Independent	2,265
Clair RAMAGE	Independent	316
Neil RICHARDS	Scottish Conservative and Unionist	309
	Total	3,271

Candidate Stuart MARSHALL Elected with 2,265 votes, being in excess of the quota of 818

### **Transfers Report**

This report contains the transfers results.

### Stage 2 - Surplus of Stuart MARSHALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	186	0.63885	118.82610
Transfer to Catriona HAMILTON	121	0.63885	77.30085
Transfer to Kay HUGHES	108	0.63885	68.99580
Transfer to Clair RAMAGE	914	0.63885	583.90890
Transfer to Neil RICHARDS	207	0.63885	132.24195
No further preference	729	0.63885	465.72165
Not transferred due to rounding			0.00475
	Total		1,447.00000

### 1,447.00000

### **Transfers Report**

This report contains the transfers results.

81.90890

# Stage 3 - Surplus of Clair RAMAGE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	54	0.09101	4.91454
Transfer to Catriona HAMILTON	122	0.09101	11.10322
Transfer to Kay HUGHES	36	0.09101	3.27636
Transfer to Neil RICHARDS	28	0.09101	2.54828
Transfer to Trevor ADAMS	268	0.05814	15.58152
Transfer to Catriona HAMILTON	121	0.05814	7.03494
Transfer to Kay HUGHES	98	0.05814	5.69772
Transfer to Neil RICHARDS	129	0.05814	7.50006
No further preference	76	0.09101	6.91676
No further preference	298	0.05814	17.32572
Not transferred due to rounding			0.00978
	Total		81.90890

Report Name: Transfers\_V0001\_Ward-10---Hawick-&-Denholm\_06052022\_143553.pdf Created: 06-5-2022 14:35:53

### **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Kay HUGHES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	21	1.00000	21.00000
Transfer to Catriona HAMILTON	47	1.00000	47.00000
Transfer to Neil RICHARDS	8	1.00000	8.00000
Transfer to Trevor ADAMS	25	0.63885	15.97125
Transfer to Catriona HAMILTON	32	0.63885	20.44320
Transfer to Neil RICHARDS	10	0.63885	6.38850
Transfer to Trevor ADAMS	4	0.09101	0.36404
Transfer to Catriona HAMILTON	16	0.09101	1.45616
Transfer to Neil RICHARDS	1	0.09101	0.09101
Transfer to Trevor ADAMS	19	0.05814	1.10466
Transfer to Catriona HAMILTON	20	0.05814	1.16280
Transfer to Neil RICHARDS	2	0.05814	0.11628
No further preference	44	1.00000	44.00000
No further preference	41	0.63885	26.19285
No further preference	15	0.09101	1.36515
No further preference	57	0.05814	3.31398
Not transferred due to rounding			0.00000
	Total		197.96988

#### 197.96988

### **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Trevor ADAMS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Catriona HAMILTON	28	1.00000	28.00000
Transfer to Neil RICHARDS	40	1.00000	40.00000
Transfer to Catriona HAMILTON	45	0.63885	28.74825
Transfer to Neil RICHARDS	52	0.63885	33.22020
Transfer to Catriona HAMILTON	27	0.09101	2.45727
Transfer to Neil RICHARDS	5	0.09101	0.45505
Transfer to Catriona HAMILTON	70	0.05814	4.06980
Transfer to Neil RICHARDS	31	0.05814	1.80234
No further preference	67	1.00000	67.00000
No further preference	114	0.63885	72.82890
No further preference	26	0.09101	2.36626
No further preference	186	0.05814	10.81404
Not transferred due to rounding			0.00000
	Total		291.76211

#### 291.76211

### **Transfers Report**

This report contains the transfers results.

# Stage 6 - Exclusion of Catriona HAMILTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil RICHARDS	67	1.00000	67.00000
Transfer to Neil RICHARDS	93	0.63885	59.41305
Transfer to Neil RICHARDS	69	0.09101	6.27969
Transfer to Neil RICHARDS	106	0.05814	6.16284
No further preference	155	1.00000	155.00000
No further preference	105	0.63885	67.07925
No further preference	96	0.09101	8.73696
No further preference	105	0.05814	6.10470
Not transferred due to rounding			0.00000
	Total		375.77649

### 375.77649